lonic Equation Worksheet

Write balanced molecular, total ionic, and net ionic equations for each of the following.

1.

Aqueous sodium hydroxide reacts with aqueous copper(1l) sulfate to precipitate copper(Il)
hydroxide.

. Aqueous potassium carbonate reacts with aqueous silver nitrate to precipitate silver carbonate.

Sulfuric acid reacts to neutralize agueous sodium hydroxide.

Hydrochloric acid dissolves solid aluminum hydroxide.

. Aqueous hydrofluoric acid (a weak acid) reacts with aqueous barium nitrate to form barium fluoride

precipitate.

. Solid nickel reacts with aqueous lead(ll) nitrate to form solid lead [and nickel(Il) nitrate].

Sold magnesium reacts with iodic acid to release hydrogen gas.

. Aqueous barium hydroxide reacts with sulfuric acid to precipitate barium sulfate.

. Aqueous sodium phosphate reacts with aqueous calcium chloride to precipitate calcium phosphate.

10. Solid magnesium carbonate dissolves in nitric acid to produce carbon dioxide gas.



10.

lonic Equation Worksheet Answers

2 NaOH(ag) + CuSO4(agq) —— NaxSOg4(aq) + Cu(OH)2(s)
2Na" + 20H + Cu®* +S044 —— 2Na" +S0,* + Cu(OH),(s)
Cu®* + 20H —— Cu(OH)z(s)

K.COs(aq) + 2 AgNOs(ag) —— 2 KNOs(aq) + Ag2COs(s)
2K" + CO# + 2Ag" + 2NO; ——> 2K" + 2NO; + Ag,CO3(s)
2 Ag'+ COs% —— AQg,COs(s)

H.SO4(ag) + 2 NaOH(ag) —— NaySO4(aq) + 2 H,O(l)
2H" +S044 + 2Na* + 20H ——> 2Na' + SO + 2H,0()
H* + OH — H,0(l)

3 HCl(ag) + AI(OH)3(s) —— 3 H,O(l) + AICls(aq)
3H" + 3CI" + AI(OH)3(s) —— 3 H,O(l) + AP + 3CI
3H" + AI(OH)s(s) —> 3 H,O(l) + AP*

2 HF(aq) + Ba(NOs)2(aq) —— 2HNOs(aq) + BaF(s)
2HF(ag) + Ba® +2NO; ——> 2H" + 2NO;  + BaF,(s)
2 HF(ag) + Ba®® —— 2H" + + BaFy(s)

Ni(s) + Pb(NOs)2(aq) —>  Ni(NOs)2(aq) + Pb(s)
Ni(s) + Pb?* + 2NO; —— Ni** + 2NOs; + Pb(s)
Ni(s) + Pb®*—— Ni** + Pb(s)

Mg(s) + 2 HIOs(aq) —> Mg(I10s)2(aq) + Ha(9)
Mg(s) + 2H" +2105 —> Mg® +2105 + Hy(g)
Mg(s) + 2H" —— Mg® + Ha(g)

Ba(OH),(aq) + H2SO4(aq) —— BaSO0q(s) + 2 H,O(l)
Ba?* + 20H + 2H" +S0,5 —— BaSO4(s) + 2 H,0(l)
Ba®* + 20H + 2H' +S0,5 —— BaS04(s) + 2 H,O(l)

2 NagPOy(aq) + 3 CaCly(ag) —— 6 NaCl(aq) + Caz(PO4)2(s)
6 Na* +2P0O,> +3Ca®" + 6ClT ——> 6Na" + 6 Cl™ + Cas(PO4)2(s)
3Ca®" +2 P05 —— Cas(PO,)a(s)

MgCO3(s) + 2 HNOs(ag) —— Mg(NOz)2(aq) + HoO(I) + CO2(g)
MgCOs(s) + 2H* + 2NO; ——> Mg?" + 2NO; + H,O(l) + CO4(q)
MgCOs;(s) + 2HY —— Mg®* + H,O(l) + COx(g)



